JxXac

Pneumatic Components | http://www.nbqd.com

1509001:2008 (€ (© @

3

JACIJADIHR

DNC %31IS06431#5# S &I/DNC Series ISO6431 Standard Cylinder

DNC-50% 100 DNC-63X 100
(m] — DNC = 63 X B0 — 25 — |§ — LB
N Iy e i e HERS
SRAER DNCISO64314 4 Z Cyinder Bore Stroke Adjustable Storke 3 #FAER
THHER DNCDISOB3 A Eah 25:25mm SRS
MASER DNCJIS06431 R s 7HE 7T ! 50:50mm Code
Tube Type Series Code 75:75mm Blank:Without Magnet
Blank Square Type DNC:1506431 Standard With I
TTie-rod Ty
M:Mickey Mouse Type

ackatabl sroke e
). FEBEH/Internal structure (Single Earing)
CB:back cover fixed type
(Double Earting)
)B:back cover fixed type

s

NO n ) Designation

1 % & AF4R 6} /Piston Rod Nut 2 %% #F/Piston Rod

3 05 2 B/Front Cover Seal Ring 4 &3k Oiliness Bearing

5 i #/Front Cover 6 4% @/Cushion Seal

7 #%&0%/Cover O-Ring 8 & ZHFO%/Pistion rod O-Ring
9 EREH#/Piston seal 10 H% (Fi%) Magnet(Optional)
1 il 3/ Wear Ring 12 I /Barrel

13 EE/Piston 14 445t %2 B/Cushion Seal

15 %% 5t/Cushion Needle 16 R#/Rear Cover

17 MR/ Hexagon Screw 18 3k 3 B E 4R 8 /Profile Bolt

sp
""/////////.ra(ui

o "
AT

||m ’
/////////_/:‘A

=

@ #H/Specifications ©_ {7#/Stroke
i 50 s Tso Lo 1
FreE—— s Bore | tadard Stroke |_Buflr Suoke Stroke Range
IHEA RMWorking Medium 233 Z SUFiltered Air :‘; 20
RIE I 5/Guaranteed Pressure 1.5MPa . 25 40 50 80
& % & % /)/Max Operating Pressure 1.0MPa 100 125 160 22
63 10~2000
#HELAHE/Min Operating Pressura 0.1MPa 200 250 320
& ih/Buffer 4k (5D /Air Buffer(Standard) L) 400 500 32
IRR ¥ /ConditionTemperature. -5-70C 100
| SERUMOporating Speed | 50-800mms
WEOR/Port Size G1/8" G1/a" G3/8" G1/2"
.,

HAH/Normal Type
DNC-S

Fl Yo

nmmﬂ—
M10x1.25 416 6238

M12x1.25 44 mn 4 296 16 36 105 13 6 20 30 135
M16x1.5 51 78 4 30 17 | 54 (115 17 8 27 37 143
63 32 45 20 565 M8 75 358 124 10 M16x1.5 54 B7v 4 356 17 66 15 17 8 L | 37 158
72 M0 93 38 125 8 4

89 M10 110 12 1.8 10‘ 4

M20X15 624 952 359 17 105 157

22
M20X15 | 69.8 1004 39 17 8 192| 2

Lol 1e
.

3% E4FADouble Piston Rod Type 8
DNC-D-S

P—
(kgm0 o | w | w | o |
B 30 35 40 45 45 55
L15 46 165 180 195 220 240
VD 16 20 27 27 34.7 382
ZB 120 135 143 158 174 189

JACIADHR




Jx(pcl ttp:// .nbqd.com 1S09001:2008 CE (((E) Gs -m

S| &511S0643 1454 S &I/S| Series IS06431 Standard Cylinder S| &51S06431#5# S &I/S| Series 1IS06431 Standard Cylinder

SERRZ/| EEANER

FE@R/ Pressure(kgflci

i External ERIR/ Com| D
‘ pression
- 12 g EWPressSide 804 1608 | 2412 | 3216 | 4020 | 4824 | 5628 6432 | 7236
Noam | nwpases | 690 1380 | 2007 | 2760 | 3450 | 4140 4830 5520 6210
SI150% 100-8 SIJ50% 100 SID50% 100
P i 298 EWPesssde 1256 2512 | 3768 | 5024 | 6280 | 7535 | 87.92 | 10024 11304
Aaon | fmeasic | 1055 2110 | 3165 | 4220 | 5275 | 6330 | 7385 | 8440 | 94.95
. 2 g8 EWPresssde 1963 3926 | 5889 7852 | 9815 | 117.78 | 13741 | 15704 17667
Datle
Adon | eS| 1649 3298 | 4947 | 6596 | 8245 | 9894 | 11543 | 13992 14841
ACCESSORY sl = 5 X 50 — 25 — S — LB - - g0 |EWPresssce 3117 6234 | 9351 | 12468 15585 16702 | 21819 | 24936 28053 ACCESSORY
Dl
| | hoon | mmPuiSde | 2803 5606 | 8409 | 11212 | 14015 | 16818 | 19621 | 22424 25227
FoIRE i i W WERE st a6 58 wty | EWPressSide  50.26 10052 | 15078 | 20104 | 25130 | 301.56 | 35182 | 40208 45234
JACHADIHR SHSOUIUEREND o Oiedereon Stroke Admiatie Sk §§f§$ !&E& Ao | nmPuiSGe 4536 9072 | 13608 18144 | 22680 27216 31752 32688  408.24 JACIADAR
SIJ:ISO643 1 A 778 W 1A & 50-50mm Magnet Code. 8 EE (W) 9 EOPress Side|  78.53 157.06 | 23559 @ 31412 39265 47118 42882 62824  706.77
Series Code g il 100 25 Doue
e e e Sk Maw‘Magnel P EANEmEs) Aoon | mPisie | 7147 7147 | 14204 | 21441 | 28588 | 357.35 | 42882 | 50029 | 517.76 | 64323
Double Action Type 8 Siibmieatid
L L —— CBEZEER(RER) % 2 w98 EWPesssde 12272 | 12272 | 24544 | 36816 | 49088 | 61360 73632 85004 98176 | 1104.48
Double Action Type 136 183 Acon | HOUPUISide | 114.68 11468 | 22036 | 34404 | 45872 | 57340 @ 688.08 80276 | 917.44  1032.12
SH:1S06$31 Double:shat R RRRRRNE gom EOProssSde 20106 | 20106 | 40212 | 60318 | 80424 | 100530 | 120636  1407.42 | 160848 1809.54
adjustable stroke type Fixed Type 160 40 Dole .
Blank:Normal type Aton | fmPWiSde| 18349 | 18849 | 37698 | 56547 | 75306 94245 113094 | 131943 1507.92  1696.41
LBifront and back fixed type
el sl LR - @ £9% [EWPessSde 31416 | 31416 | 62832 | 04248 | 125664 | 157080 | 183496  2199.12 251328  2827.44
FBiback cover fixed type(Rear flange type) Aden |mmPwiSde| 30157 | 30157 | 603.14 | 90471 | 120628 150780 1809.42 210099 | 241256  2714.13
CAack cover fixed type (Single Earing)
CB:back cover fixed type(Double Earring)
TC:ceniral Swinging Type
Sk e et e ). {T#/Stroke
S EH sl B A& « BAITE/ BIHTE
Designation NO Designation Bore(mm) SRR (TRStardard Stoke Max.Stroke | Permissible Stroke
1| B Piston Rod Nut 10 | #H/Piston 32 25 50 75 80 100125 160 175 200 250 300 350 400 450 500 1000 2000
2 | EEAPstonrod 1| Amwearng 40 25 50 75 80 100 125160 175 200 250 300 350 400 450 500 600 700 800 1200 2000
e o 12 50 25 50 75 80 100 125160 175 200 250 300 350 400 450500 600 700 800 900 1000 1200 2000
4 | 0@oRNg 13 | AEO®/Piston O-Ring 63 25 50 75 80 100 125160 175 200 250 300 350 400 450500 600 700 800 900 1000 1500 2000
5 | &MSKOness Bearing 14 | EE2OS/Cover ORing 80 25 50 75 80 100 125160 175 200 250300 350 400 450500 600 700 800 900 1000 1500 2000
6 15 100 25 50 75 80 100 125160 175 200 250 300 350 400 450500 600 700 800 900 1000 1500 2000
7 16 Screw 125 25 50 75 80 100 125160 175 200 250 300 350 400 450500 600 700 800 900 1000 1500 2000
8  m®HPiston rod ORing 17 | ERearcover 160 25 50 75 80 100 125160 175 200 250300 350 400 450500 600 700 800 900 1000 1500 2000
9 | umBamel 200 25 50 75 80 100 125160 175 200 250300 350 400 450500 600 700 800 900 1000 1500 2000

—
T T A A B

AR Motion Pattern E5/Double Action

9 BMWorking Medium SS/AT

B % Fixed Type AR Normal type FARtype FBAY type CAZ)/type CB Rtype LB Altype TCA type
#E /38 E/Working Pressure Range 0.1~0.9MPa

{RIER[E $/Ensured Pressure Resistance 1.35MPa

#8835 [/ Operating Temperature Range 5~70C

{#fi% 75 8/Operating Speed Range 50-800mmis

4 B/Buffer Type i i/Adjustable Buffer

{7H/Buffer Stroke 2 32

1 O@/Port Size G/8* Gl Ga G2 G4



‘ Pneumatic Components | http://www.nbqd.com

S| &F1S0643145i# S KI/SI Series 1S06431 Standard Cylinder

Sl #31/SI Series

ACCESSORY

SID #3/SID Series

S R&FU/SI Series

Rt %/Dimension S

T

AsTE(Stroke
o ——

AL+i7 B(Stroke) <2
T HI(Stoke_2|
3

i siroke

i
(stioke)

w
At (Side's Bresan)

MR/ S/
Bore/Sym 2 (il G,
32 142 190 | 187 | 48 | 94 0 28 20 215 2 17

40

159
175
190
214
229
279
332
337

135
16
155
165
165
185
23
25
25

213
244

300
320
398
484
514

207 54
233 69
250 69
286 86
308 91
3725 | 119
448 152
472 157

G1/8" 4
G1/4" 6
G1/4" 85
G3/8" 75
G38" 1
G112 135
G112 14
G3/4" 15
G3/4" 15

105
106
120
128
138
160
180
180

[ 0 0 0 O [
75 7 47 325 12 10 2

35 32 22 29
40 42 27 30
45 40 29 31
45 53 33 35
55 55 36 36
60 74 45 46
65 94 58 50
75 100 57 50

85 9 53
75 75 65
85 9 75
85 135 95
95 145 15
12 14 140
12 20 180
12 20 220

6
24 19 7
32 24 8
32 24 8

40 30 10
40 30 10
54 41 | 135
72 55 18
72 55 18

38 16
465 20
56.5 20

72 25

89 25
110 32
140 40
175 40

B
M6

M10x1.25
M12x1.25
M1631.5
M16x1.5
M20%1.5
M20%1.5
M27%2
M36%2
M36%2

21
2
23
29
29
35
40
40

sc — 50 X 50
HE 718
CylinderBore  Stroke

SC:Standard double action(Tie-rod Type)
SCD:Double-shaft double action(Tie-rod Type)
SCJ:Double-shaft double action

adjustable type(Tie-rod Type)

SU:Standard double action

(Without Tie-rod type)

SC-100% 130

25 —

T
Adjustable Storke
25:25mm

» &

SCJ-50x100-25

s — LB ACCESSORY
WERS
BEAE JACIADIHR
S RERR
Magnet Code

net

ag:
S:With Magnet

NO. Designation NO.

1

CAREEEE(£ER)
CBIR EEER(REHF)

TCish B

TC-MIBE MBI

Fixed Type

Blank:Normal type

LB:front and back fixed type

FA:front cover fixed type(Front flange type)
FB:back cover fixed type(Rear flange type)
CA:back cover fixed type (Single Earring)
CB:back cover fixed type(Double Earring)
TC:Central Swinging Type

TC-M:Central Swinging Type attaching foot seat

Designation

EEFMEBPiston RGNt | 10 | BT/ Wear Ring
FRHF/Piston rod 11| sIEBarel
#i 12 Ring
A Oliness Bearing 13 | H#EEEDamping adjustable screw
#i/Front cover 14 | [R#/Back Cover

15
FR0%/Cover O-ring 16 R8T Rod Nut
7&BOS/Piston O-ring 17 | 12#FMe Rod
&R IPiston 18 | EEHEHE/Piston Rod Seal

"



axac N b
" rp | http:/iwww.nbad.com 1Is09001:2008 (€ (© @S i)

SC/SU RFI## S &L/SC/SU Series Standard Cylinder SC/SU RFI#5i# S &I/SC/SU Series Standard Cylinder
). $t2R B/Main Dimensionsimm)
©, ###/Specifications
e S N I I I S 200 : pmen
# £ 4 3/Motion Pattern % 5 %)/Double Action £ | o
{4 BiWorking Medium ==UAr i o
EARFixed Type HAE/Normal type FAE/Type FBE/Type CAZ/Type CBE/Type LBE/Type TCE/Type TC-ME/type 32~ 9200
{& R /176 8/Operating Voltage Range 0.1~0.9kgf/cm’ o = an
RIERE R 1.35Mpa =[Fd I
5~70C g
dRange 300 800G 4side'sBreadtn e
AR /Buffer Type A4 % /Adjustable Buffer
ACCESSORY #ih{T12/Buffer Stroke 24 32 ACCESSORY
#EOR/Port Size (S G4 [T G4 3 ST T — .
SCD.SCJ AR H:FAFBLETCHTCMA.  SCD,SCJ Fixed Type:FAFB,LB,TC & TC-M Type. — i KITS.
JACUADIHR ‘-a-‘ ¢y JACUADIHR
32~ $200 g: 5 f,
1 5 N
* @]
~; 2/ Pressure(kgficm 4Side’sBroadth
Cioma | st | SUE = =
g‘i::g:tgod Potion Pattern Area(cm’)
& B o | EPres Sdo 2412 4020 | 4824 | 5628 | 6432 | 7236 5 sk =
Acion | 8Pu Side 1380 | 2007 | 2760 | 3450 @ 4140 4830 | 5520 | 6210 oo or
o - | P Sce 2512 | 3768 | 5024 | 6280 | 7536 | 87.92 | 10024 | 11304 4 =
Acion | H8YPul Side 2110 | 3165 | 4220 | 5275 | 6330 | 7385 | 8440 | 9495
HHT ESYPress Side 3926 | 5889 | 7852 9815 | 117.78 | 137.41 | 157.04 | 17667 @32 9200 2l 1] %
50 20 Dowle | [ &)
Acon | 1H8Pul Side 3298 | 4947 | 6596 | 8245 | 9894 | 11543 | 139.92 | 14841 1
£ | EOWPress Side 6234 | 9351 | 12468 | 15585 | 18702 | 21819 | 24936 | 28053 L
63 20 D»i: /Pl Side 56.06 84.09 1212 140.15 168.18 196.21 224.24 252.27
@ o5 g s Se 10052 | 15078 20104 25130 | 30156 | 35182 | 40208 45234 R
Acion | H8UPU Side 9072 | 13608 | 18144 | 22680 | 27216 31752 | 32688 40824 @, [l Dimension Sheet.
_— 3 o EPressSde 157.06 | 23550 31412 | 39265 | 471.18 | 42882 | 62824 | 706.77 Bore/Symbol| A A A2 B c D E 3 G H | 3 K
Acion | 18UPul Side 14294 | 21441 28588 35735 | 42882 | 50029 | 517.76 | 64323 32 140 187 | 182 a7 o 28 32 5 | 215 | 22 17 6 M10x1.25
1o . R EPress o 24544 | 36816 | 49088 61360 73632 | 859.04 | 98176 | 110448 40 142 191 185 4 o 2 34 5 | 275 | 2 17 7 M12x1.25
Acion | 18UPUI Side 22036 | 34404 | 45872 | 57340 | 688.08 | 80276 | 917.44 | 1032.12 50 150 207 | 196 57 o 38 2 5 | 275 | 32 2 8 M16%15
T8 p | EPres Sdo 40212 | 60318 | 80424 100530 120636 | 140742 | 1608.48 | 1809.54 63 153 210 199 57 % 38 a2 5 | 25 | 32 2 8 M16%15
Acion | 18UPuI Side 37698 | 56547 | 75396 94245 | 113094 | 1319.43 | 1507.92 | 1696.41 80 183 258 | 243 75 108 | 47 54 21 3 40 2 10 M20% 1.5
e %5 g s e 62832 | 94248 | 125664  1570.80 188496 219912 | 251328 | 2827.44 100 183 43 | 243 75 108 | 47 54 21 3 40 2% 10 M20%15
Adon | fiWPuISide | 301.57 30157 | 60314 | 90471 120628 | 1507.80 | 180942 | 2100.99 | 241256  2714.13 125 226 30 | %63 | 104 | 122 55 70 3 3 54 40 10 M27%2
160 291 412 | 450 | 123 | 168 | 62 91 32 48 72 55 18 M36%2
200(Lron) | 347 | 409 | 451 167 | 180 | 80 12 55 a8 72 55 18 M36%2
Bore(mm! Max.Stroke | Permissible Stroke M6 1 9.5 137 G 35 76 7 45 33 12 12 21
32 25 50 75 80100 125 160 175 200 250300 350 400 450 500 1000 2000 40 M6 1 95 135 G4 6 82 9 50 37 16 14 21
40 25 50 75 80100 125 160 175 200 250300 350 400 450500 600 700 800 1200 2000 50 M6x1 95 135 G4 | 85 82 9 62 a7 20 17 23
50 25 50 75 80100 125 160 175 200 250300 350 400 450500 600 700 800 900 1000 1200 2000 63 MBX1.25 95 135 GIB 7 82 85 75 56 20 17 23
63 25 50 75 80100 125 160 175 200 250300 350 400 450500 600 700 800 900 1000 1500 2000 80 M10%15 15 | 165 | GI8 10 95 14 9 70 25 2 29
80 25 50 75 80100 125 160 175 200 250300 350 400 450500 600 700 800 900 1000 1500 2000 100 M10X15 15 | 165 G2 i 95 14 12 84 2 2 29
100 25 50 75 80100 125 160 175 200 250300 350 400 450 500 600 700 800 900 1000 1500 2000 125 M12x1.75 155 165 G2 / / / 140 10 32 27 33
125 25 50 75 80100 125 160 175 200 250300 350 400 450500 600 700 800 900 1000 1500 2000 160 M16x2 175 25 G112 / / / 180 140 40 36 38
160 25 50 75 80100 125 160 175 200 250300 350 400 450500 600 700 800 900 1000 1500 2000 200 | M16%2 175 25 G3u" / / / 220 175 40 36 42



